Prefix Suffix

Input file: standard input
Output file: standard output
Time limit: 2 seconds
Memory limit: 256 megabytes

There are two strings s = $182... S, and t = t1ts ... 1,,. Several queries are given and for each query, you
need to find the number of pairs (z,y) such that:

°ls§$§7‘s,lt§y§7"t

o let p=5;5,41...8,t1t2.. .1y, and p is a substring of s or t.

Input

The input contains multiple test cases. For each test case:

The first line contains three integers n, m and ¢ (1 < n,m,q < 5 x 10°) — the length of s and ¢ and the
number of queries.

The second line contains a string s of length n. And the third line contains a string ¢ of length m. Both
strings consist only of lowercase English letters.

The next ¢ lines, each contains four integers ls, s, s, 74 (1 <ls <rs <mn,1 <l <1y <m).

The sum of values of n in all test cases doesn’t exceed 5 x 10°. The sum of values of m in all test cases
doesn’t exceed 5 x 10°. The sum of values of g in all test cases doesn’t exceed 5 x 10°.

Output

For each query, output an integer denoting the answer.

Examples

standard input standard output
333 3
aaa
aaa 1

1
1
3

w = W

13
22
11
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